SF0 54 s ® K 15
I BCET A4« TR I ERSA A AT HERGE
S (TR wass @M m oW g [P ACEERTEECEA RS
B #I P S AL 00 1 G PR - e e I
RERLIA o Hitke 40 | LO|H 4.8 7.4 - —
Fll R TR _ o> F IR M D 2 3 & 31T U 5 Hithy
1 Radmw 50 | 1.1 |[EeEEpAE S | —
2 ECEAIRIGRE ONARETRID 50 | L1 |FEeHEEE | —
3 BRSO Hi 40 | 1.1 (AredEEEE | —
_EFEEAS o HitkaR
1 FRETRBUME o B A Hi X —h o2 ol 51 | —
2 LRELU o i 40 | LA|k 4T T | —
<| BB R EHE L O FEHIR O RS BT B
1 bVWoORERLEFEROIMOHEL |40 | Lo |Fh¥EERRE | —
2 BUVOJE &R E SR O R O HiE
(1) BERFEE - HEFKDORORSE 40 | L1 |[HkiggesE —| -
O AR oD Mk
(2)  _EREELASh DO HuE 40 | 1.1 |EuEERSE - —
_ERLLASN D i
1 IR o 5 A Hl O —fh 2. g6l 51 | —
2 REOLISh o HiE 40 | 1.0 4gh 7.3 | —
&| 8 P S 1 B L 58 PR 0D J Pt DX —l 2. 4t 3.7 | —
LERLIS 0 i 40 | 1.1 | 2. 7fR 4030 2. TEE 2.7
BEET REHH - FEABRB
1 RIS o B2 T K I 4. 7fel 8.8 | —
2 _EFLSh oM 0 | 11|k e 14 | -
EERLIA o HiE
1 REIRE e o B2 T Ik —l 3. Ll 54— —
2 LRELIA o Mt 40 L1|# 3.9% 5.9 - -
7o KR - REH EHTRHE B AR OED ST A 40 | 11 - - - -
RFRLAA D His
1 EEREHIRAN O B K —pill 3. 4P 5.3  — -




&F0 545 i = X °H
I BCET A4« TR I ERSA A AT HERGE
R I B B B S B =y i TSt v
v KR - KRR 2 LELADHR w | owagead 4 4 7 7
o Hil - AT ER T EHE_E o> IR MO B 67T U 5 Hil
1 [EiE 8 Himn 40 | L1 |EeaEE L | -
2 LELSOHR 40 L2Ewﬁgm@ - -
EEREAA o ik
1 FREERBE N o B A Hh O —fh 8.3l 5.2 | —
2 REOLISh o HiE 40 | 1.1|h 3.gh 57 | —
L BT AR TR b oD R Ml oD 72 8 B L T % Hitld
1 HVoJEl &R E ERIE R O AL o> Hisl
(1) REHW 50 | L1 |EsevEEEE | —
(2) ETETABRRARIE 50 | L1 |[EkHEERE 0 | —
(3} EEesist ot 40 1.1 | b HEE bR - -
2 BVORERXESEROMMOME |40 | L1 |[FALEERE - -
RERLAA D Hitke
1 FGEEAR - FRARKBW 40 | L1 e 120 —| -
2 BRSSO
(1) BEEEHREL A o B B X —|fd 2.7 5.0 — —
(2)  LRCLAS DM 40 | L1|d 4061 - —
H -« FET R A L o> AR DO E D 5L T D i
1 JRERW 50 | 1.1 [AmHEEHYE - —
2 WEVARERTFRR 50 | 1.1 |EEEEEEYE  — -
3 kRSO 40 1. 1 |JB) Eb ¥ L - -
FELLA D it
1 BEEEREHIE P o A K0 ﬂSﬂFEJ -1 -
2 LELIS o i, 40 | 1.0 4.3 6.6f |
77| PELER BB AE - FIABRID 50 | 1.1 -1 - - -
L FRELA o itk 40 | 1.0 - - - —
PR« BE{RAT I EHE RO RBHIROED S TW A HER 40 | 1.0 -1 -

EJH:XEF i




&F0 545 s ® K 3E
I BCET A4« TR I ERSA A AT HERGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% = 2 e & # ®
77| Btk - FAORET FCRAS o Hir e
1 BEEREUIEL P o B A X —l 2.8 4.5  —| —
2 LERLIA o i 40 | 1.1 |d 3.9 6. 4 2. T 2.7
(| PEET BT I BPARIA 50 | L1 |Ebc#EEEE | —
_EECLAS 0> itk 40 Llﬁmﬁgw@ -1 -
W FalR TR HE Lo FIEHR D 7B 8 64 T D Hi
1 BSEmy 50 | 1.1 EseyEE ey | —
2 WDE{ARETRR IOV 50 | L1 |AEkEEERE 0 | —
3 LRELUh o K 40 | 1.0 [EieuEELE 0 | —
EELIA O Hi 40 | 1.1 |# 4.8+ 86 |
i3 AR # TR HE LoD FIRHIR O E D 5 1 Tu 5 Hitlg
1 RiERW 50 | Lo |FerEEEE | —
2 LELU OISR 40 | L1 |EriEERE - —
RERLAA D Hitke
1 BREERE M 0 B O —[t 2. 8l 5.1 — —
2 bRELSt o 40 | LO[P 460 7.3 - -
U EEP ER T FHE o> RHIR O E D 63T D Hitk
1 V&A@ HAR 0 Hsk
(1) BERW 50 | 1.1 |FEEEHYE  — —
(2) HEHERBRIR 50 | L1 |ALcH#gENE  —| -
(3)  EFELASOHIE 40 | L1 [AeHEEAE — -
2 AN O VG D HE 40 | L1 |HnEE e - —
FELLA D it
1 BEEEREHIE P o A K0 ot 2. 086 5.1 —| —
2 LELIS o i, 40 | 1LA|h 4T T | —
A AR EHE | o> FIRHIR D 7B ¥ 5 T D Hidg
1 HVOE LR E B O AL otk
(1) RsEfR 50 Loﬁmﬁﬁmﬁ -1 -




H
L
o

S 595 = 4H
I BCET A4« TR I ERSA A AT HERGE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
O\ I (2) ETEMEERRHE D 50 | 1.1 |EiexEEHHE - -
(3)  HTIEfE E R SRR 50 | 11 |AkeHEEHE | —
(4) LRSS OHRL 40 | 11 [EevEE L —
2 BHUVORECFEGERO MR O HIK
(1) AR R M X el e S £ T (X 4k @3 | @yl @) -
(2)  _ERELASR O HuEL 40 | L1 [BreuEE e —
_EFEEAS o HitkaR
1 FRaEHIA - FRARBY 40 | L1|Pe.gh 12—
2 LRI o Hitk
(1) R RS i o B2 A Hh X 3.3t 5.1 —
(20 EREstoHR 40 | L1 4.8 7.3 —
A FLIRY e 40 | L.O|F 3.8 6. Ll 2. 7l 2.7
EL IR 40 | 1.0 3.8F 6. 1E@ 2. 7l 2.7
k| #E AR TR o> AR D RE 8 6 70T A HtE
1 RiEiRw 50 | L1 |EHEEEkEE —| —
2 bRELSt o 40 Ll%mﬁgmﬁ o
RFRLAA D Hitks
1 E#Es Ry 40 | 11| 7oofR 130 2. T 2.7
2 LRELstoR
(1) FEEEHRBLHUR A o 2 T B X —idi 3.4 4.2 — —
(2)  EEBAS MR 40 | 1.0 |d 4.3 7.5 2. T 2.7
FRELAsk P 4R LM P oD 7 o R —[idi 2. ot 4.1 - -
ECRLA O H e 40 | 1.1 |d 4.6 7. 0% 2. 6l 2.6




